
( Dets 
Pege 

ExERCISE &(A 

i) 55= IX56 lid ug LXug 
-2X29H 
3x 16 

65=1,5,11,55 uA12 
6X2 

FUR1,2,34,2,6, 
12,1,24, U2 

3 X15 

6 L2,5, 15 

iv) 36 IX 36 
2X 18 
3 X12 

v 24 21y2 
3 K 22 

ux21 
XI 

X 12 
Q4:1,2,3,46,1 

12 lu, Diu 2,22,g4 
361,2,3uG9 

12,12,36 

2 h hon 15 

2,3,Z1L12,13, 17, 1923 

n tzan keiion 5 and 35 

17, 19Z3, 2921 

LL12, 13,12,2,23,2a,3L 32,41, 43. 

U7,23 59, 61 67,11,133 



Date 

3. 5b 45 

5111 13, 13 1923, 29,S1, 31 u1, 43 

K2 to 32 

2,3,6,1L 13,12, 19,23. 29,31 

1, 13,1A 19,23,2g 31, 3 UL u3,47 

222 13,,19, 23,2,3L 31,4L U3,41,53,5 
TUESPAY 

4.n16 2 1o 
28 
2 4 

2 

IG 2 
16BZ2X22 

p 22- 327 3 
272Bx3x3 3 3 



Pege 

3061 
35 8SX17 

)35 -5B 35 

) Lua A4a yg 

5 Pa 2|6 
33 P= 2,3 

PB=2X3 

2u 2 2 2 2 3 
212 Pu2XLXRK3 
2 

3 

GH Pso 250 
5 25 

(8)2 
5O- 25

Psa - 2xGXS 

Pu2 2 42 
321 

4223, 
PAz2 3x 

HE: 

Ex 16,36 

Tactau IG 2 2u8 16 
hola 26 U5 735 
HCE=1 
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